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Category: Average Cost
___________________________________________________________________
Product: Pastel Accounting Xpress and Partner
This is the cost Pastel Partner and Pastel Xpress 2007 uses whenever items are taken out of inventory, for example when you sell an item. The average cost is calculated each time you put items into inventory, and it is done as follows:

1. Pastel 2007 calculates the current total cost of the item (A) as the current quantity on hand multiplied by the average cost.

2. Pastel 2007 calculates the total cost of the items moving into inventory (B) as the cost of the new item multiplied by the quantity being purchased.

3. The new total cost (C) is calculated, by adding these totals A and B together.

4. Pastel 2007 calculates the new total quantity on hand (D) as the sum of the quantity on hand and the quantity purchased.

5. The new total cost (C) is divided by the new total quantity on hand (D), to arrive at the new average cost.

Note:

· Pastel 2007 takes items out of inventory at the average cost

· Pastel 2007 re-calculates the average cost each time inventory moves in.
You also need to be aware of how Pastel 2007 uses average costs in earlier periods:

· The average cost is maintained per period for each inventory item.

· If you purchase an item in a period, the average cost is calculated at that period, and sets the average cost from that period onwards as the calculated average cost.

· The system always takes items out of inventory at the latest average cost, irrespective of the period you are processing in. This is to ensure that the inventory account remains in balance. If you do a valuation report at an earlier period, however, the system uses that period's cost.
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If you have any further questions, contact us on:
T: 0860 PASTEL or (011) 290 2880

E:support@pastel.co.za
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